Esquemas Eléctricos
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INSTALACION ELÉCTRICA:

Cuadro A:

· 1 motor de 1.5 CV

· Rompe bolsas 2Kw

· Terminador 16Kw

· Trommel 10 Kw

· 1x1.25x736x1.5= 1600 w

· rompe bolsas    =  2000 w

· Terminator       = 16000 w

· Tromel              = 10000 w

 I = P/ ((3xU)=  29600W /((3x400)= 39.72 A

S= PxL /(CeU) = 29700x16 / (56x8x400)=  2.64 mm^2

( Cable= 10 mm^2        PIA = 40 A

Cuadro B:

· 1 Motor de 1.5 CV    (             1x1.25x736x1.5= 1600 w

·  Prensa de chatarra 8 Kw.   (    8 Kw x 1000w =  8000 w
                                                                               Total =  9600 w

 I = P/ ((3xU)=  9600w /((3x400)= 13.85 A

S= PxL /(CeU)=9600x35 /(56x8x400)=  1.87 mm^2

( Cable=  2.5 mm^2                                PIA =16 A

Cuadro C:

· Prensa Principal  12 Kw    ( 12 Kw x 1000= 12000w

· 1 Motor de 1.5 CV         (  1x1.25x736x1.5=  1600w
                                                                          Total= 13600w

I = P/ ((3xU)=13600w/((3x400)= 19.62 A

S= PxL /(CeU)=13600x20/(56x8x400)=  1.51 mm^2

( Cable=  4 mm^2                                                       PIA = 20 A

Cuadro D :


- 1 motor de 1.5CV   ( 1x1.25x736x1.5 =  1600 w


- Electroimán 5 KW ( 5 Kw x 1000   =      5000 w


-Titerch   3 KW      (  3 Kw x 1000=          3000 w


-Foucoult 6 KW      ( 6 Kw x 1000=          6000 w






       Total   = 20200 w

I = P/ ((3xU)=  20200w /((3x400)=29.15 A
S= PxL /(CeU)=20200x50 /(56x8x400)=  5.63 mm^2

( Cable=   6 mm^2                                            PIA = 30 A
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